VoS DG

Send your Feedback to vidya@sakshi.com

S0 |

a0 1112019

@©00S ROBSE B 063, (5750 DOST

1120
J; =80 coond x Dend?
1) 225 2) 125
3) 336 4) 196
1120
4; W - \fl';
Jx =14
ahJHor $go BoHre
(Vx)2 = 142
x =196
5476 35%%3?@0 DOes ?
1) 76 2) 66
3) 74 4) 84
3, 7154 76|74
7149
144 | 576
576
J5476 =74

162+ 51-9-9-6+7 }|=

1) 7 2) 9

3) 14 4) 18

. 2; 162 + [51-{29—(9-13)}]
162 + [51-{29+4)}]

=162 + [51-33]

=162 +18=9

119+[22—{90+(23 105 +773}]=

1)3 2) 4
3) 7 4) 12
3;

=119+[22-{90 +(23-105+21}]

=119 + [22 — {90 + (23 — 5)}]
=119 =+ [22 — {90 + 18}]

=119 +[22-5]=119+17=7
24.6 0. EH &) oo 12129
@ég@@e DeFe, WoHE® DG o
S0y, APED JoS?

1) 15.2 &. 9) 7.7 &.

3) 17.4 &. 1) 18.4 %o,

3;

Eled) éOKqQéo_aeJ Swdo =12 +29=41
B EH I = i—?x 24.6

~29 % 0.6

=174 .

16% eoe5o&® 2.8 S &oe. k099
@3)3&5 &9 SRH L) & dod?
1) &~.1780

2) &3.1760
3) &. 1775
4) &>.1800
| ~2059%100
3RS0 T 00416
_ 2059100 _7100 _
116

A, B 2% 599 10 8¢, B, Cen 15
&%, C, Aen 8 HIJ 12 8%’
S0 B St KOV A Ser&® e
HAQ e DI ?

1) 8 &%axen 2) 12 8%aren

3) 10 8%aren 4) 14 &%a»en
1

1, (A+ B)o a8 &% £ =

(B + C)o 2.8 &% $Q T

1
(C + A)o 2.8 &%» 59 T

2(A+B + C)o 2% 8 £
I 1 1 6+4+5 15 1
10 15 12 60 60 4
1

(A+ B + C)o 2.8 &% 56€O=§

(A+ B + C)en 0% 8 6% 0
P8 BID.

D205 $5 3063 Sood bd 8.8, Jirfos®
AR 3 AP S008 T
BHoHoerd. 8 ot 48 8.8%.
K08 Hafrdy S T AT
B0 wolgorr BHHorD. wond
50838 rEFTOH SoeSg S0 Dod?

1) 25.8 8.%. 2) 28.8 8.8.

3) 31.5 8.&. 4) 28 8.%.

. 2: 50838, rEFO S2655e5 80

= x 8.20.
50¢3 00D FFTOH Hofredod

X
SO0 =—

X

S. £ —
Sifo EAY Bafredod w0 = 13
were Sk 8w = 3—(-1)
4
=4 2 = — Ho.
e = e

X X 4

48 54 60

x 4
432 60
x=128.8 8.8.
200 &. &S %?6& 2.8 Gen HoéaH 60
8.5, BKo& o dEES Foard)
ARIM TR a’aé§ Q00HO Noes?

1) 80 2% 2) 1 Do
3) 12 20t 1) 14 2085
3; Sew Sifo = 60 8.80. /0.
6O><i _300 ./
18
&Seso = 200 &o.
o0 = Se80
Stfo

200 200

m=% X18=12 2085

18

. k%o $35, Dach Sobine 3

70 3. 3 JodEyore Soegd 00
SaHdoyw g 21 1 wond DS
585 HHdoy o ?

1) 21 2) 14

3) 28 4) 10.5

1; 585, Dascdhoe HRS Savboyen

= Tx, 3x eaéoé;oé‘ﬁ

03°e éo&ﬁéﬁame e‘§c°§e‘§ 3°0
505)‘(03@@ =T7x+3,3x+3

Tx+3 2

3x+3 T

Tx+3=6x+6
x=3

53T (8 SAH0y
=Tx=7x3

=21 éoéﬂé{o@e:o

. 20 £06 wrd¥w 6N 2k TS

18 £3§ ¥ 2xhHen S o erd¥
308 0 Sookd $oHdy R Joew

363628

3965 30635,/ Ok

. 3 o
ssor
r W &
ey
' 4

S8, FEm 865 w8 Sabin
N0 ?

1) 14 3% 2 Jow

2) 14 2% 4 Jowen

3) 14 cfbg 6 Jwen

4) 14 3% 8 Joen

.4 S 388 20 SAHBoy = x

A% Sapisn = 2 Foes _2_1

o 12 6
20><l=18—x

6
3 3

=14 éo&ﬁé{acw 8 Joen
Shortcut:
§°%5°0 éoﬁ;éo(a = &oRoDS 70

Sapiy — Sphe Homg X Biw0s”
Sifis0

=18-20X —=18——=—=14=
12

=14 éoééé{acw 8 Jwen

. (DQBo &Y, Ly Sahdne ngo

54 o 11 OF 8o 8 Sawi,
Eredhdh SaH So& 3 Tew ewand
B e‘§§ﬁ) 5053‘/(03‘3 D05 ?

1) 32 2% 2) 36 2%

3) 35 2% 4) 34 2%

3, Si%%0 Ero Sahiky

= x 508%&.

59 Sabiky = (54 — x) D%

11 9% 880 59 Sy

=54 —-x-11

=43 — x

11 Q)}j 8BS0 EHd aﬁo‘i)éa(a =x—11

3(x—11)= 43 —x

3x—33=43 —x

4x =176

x=19

-89 Sy = 54 — 19

=35
. tanot = V5 — 2 evand tano, — cotd

=9

1) V5 +2 2) 2V5

3) —4 4) =2

3; tanor = V5 — 2

coto, = ! ! J_+2

tan o J— J5+2

_5+2 «f§+2 AR,

5-4
tanoc—cotoc=\/5—2—(\/5+2)
=V5-2-5-2
=—4

o8 OEHSH DBH sHEY el

S0l Sogee §_>%°®°§e>o S&H3me 29,
82, 82 #$0.0. ©ond, @ g
IDBXT°00 D0 ?

1) 160 $0.20.

2) 184 50.8%.

3) /3024 5.8,

4) 92 $5.8.

1, 8y =1, 5&@003 =b, % =h
S008I ST

= [b, bh, h! ©c»d

[b=25

bh =32

hi =32

BZTY Ho$H0e00

v = [bh

[b X bh xhl=25X%x32x 32
(Ibh)2=25 x 32 x 32

Ibh = /25x32 %32

=5%x32
= 160 $o.&.
S.oes %aég 085880 = 160 50.80.

. 305 esedos? &) ol g0,

Dévaren dFen SKHXe 16 ., 5.6
8. 805 S0l ROHERE soae
NS Sgo Ikeny 4 . wand KD
D0 ?

1) 85.2 &. 2) 35 .

3) 32.5 &. 4) 32 .

1, &0¢5 &d88e SO0 = Trl

= %X 8x5.6=140.8

S o oKD

_1908 555
4

. 2% Doggdh 3o 29, Sogg STR)

Soyr 8 £ @ Sogg dod?
1)1 S 3

2) —1 8= 3
3) —1 8= -3
4) 1 S -3
4. :603;35 =X
Bé§o©=2x
éoa::g asgo:x
X2 +2x=3
2 +2x-3=0

2 +3x—x—3=0
x(x+3)—-1(x+3)=0
x+3)(x—-1)=0
x+3=0

2

17.

18.

x=-=3

x—1=0

x=1

800 PSS SoyTre  wmedone
QSgegraren oroHod.

5550

) Soren %Jéb(ﬁ’g

SIS %aéb‘ﬁg DJseen

SoTe0:

1) @) oren Hgseen

1) ey %a@o%fg gereen

1) 5w0 ii @U"&éo KBIEEH0

2) Bo @m&vm 58 zeo0

8) 8w0 i domso S KoL
4) Bob é@é@?@) 5885

3;

DS
DD

geoen

i é’écg:éo SB35 $0BS06
15x2 + 8x — 12, 3x2 + x=2, 3x2 —
2x, 9x2 — 12x + 4 © K.3.2°. dok?
Hx-—4 2) 3x —2

3)x—2 4) 3x — 4

2. 15x2 + 8x — 12 se8emoseen
e SoHre

15x2 + 18x — 10x — 12

3x(5x + 6)— 2(5x + 6)

(Bx —2)(5x + 6)

3x2 +x—2

32 4+ 3x—2x—2
3Ax(x+1)2x+1)

Bx—2) (x+ 1)

3x2 — 2x

x(3x—2)

9x2 —12x + 4

9x2 —6x — 6x + 4

3x(3x —2)-203x—-2)
Bx—2)3x—-2)

@*’865%‘623 5o8ese080 3x — 2
co.eee. 3x — 2

considered for Ranking

For registration visit sakshi.onlinegrandtest.com

Vidya Weekly Test
RRB FREE Online Grand Test

Students can write exam at any time& at any place.
Statewide Ranks will be announced
Exciting Prizes for Top Rankers

Only first time attempted score will be

e "

SAKSHI EDUCATION

®
2 |




